RED nch-
R >
<

HOOD CATCH KIT

(2007+ WRANGLER JK/JT/JL)

INSTALLATION INSTRUCTIONS

CONTENTS

(1) Upper Hood Latch
(1) Lower Hood Catch
(2) M8 Bolts

(2) M8 Flat Washers

(2) M8 Locking Nuts

(4) M6 Bolts

(4) M6 Flat Washers

(4) M6 Locking Nuts

(3) Allen Keys

(2) JK Mounting Gaskets
(2) JLAJT Mounting Gaskets

TOOLS REQUIRED

10mm, 13mm Socket
13mm Wrench
Socket Wrench

SKU # J154605



"
REDROCK=
X

STEP1

Using a 10mm socket, remove the (2) nuts securing the upper hood catch on the vehicle.

STEP 2

Install the new hood catch using the provided (2) M6 Allen bolts, (2) M6 flat washers, and (2) lock
nuts. Ensure the appropriate rubber gasket is under the upper hood catch when installed. Use the
rubber gasket labeled JK for 07-18 Wrangler JK. Use the rubber gasket labeled JL for 2018+ Wran-
gler.



"
REDROCK=
X

STEP 3

Using a 13mm wrench, remove the lower hood latch.

STEP 4

Using the supplied Allen wrench, remove the (2) Allen bolts to access the mounting bolt.



"
REDROCK=
X

STEP S

Install the lower hood catch to the vehicle using the provided (1) M8 Allen bolt, (1) M8 flat washer,
and (1) M8 locking nut. Reinstall the Allen bolts removed in step 4.

STEP 6

Latch the hood catch as shown.

Installation is now complete.



	J154605 - RedRock 4x4 - Hood Catch Kit (18-21 JL JT)-01
	J154605 - RedRock 4x4 - Hood Catch Kit (18-21 JL JT)-02
	J154605 - RedRock 4x4 - Hood Catch Kit (18-21 JL JT)-03
	J154605 - RedRock 4x4 - Hood Catch Kit (18-21 JL JT)-04

